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Fifth Semester B.E. Degree
Transmission

Time: 3 hrs.

Note: Answer FIVE full questions,

2 a. Derive an expression
different levels and

standard voltages.
(06 Marks)
(08 Marks)
(06 Marks)

when supports are at
(08 Marks)

Lr i .i* 'a \vv lvr4r AJ,

ing for improving the string efficiency
connected to ggarifrings. (07 Marks)

the effect ofwind
b.
c.

Write a note on sidfc#plate. , # (04 Marks)--t efi:%ir^*--' d.

An overhead liqh.;'Fd river crossings is supl*iided form two towers at heights of 50m and

85m above the witer level, the horizontal-:diStance between the towers being 450m. If the
maximum,fgpsion is 3980kg and the conductorweight l.726kg/m. Find :' )!,-

i) Miniryffir-&E'arance ii) The clearaqqe bbtween the conductor and the water level at a point,
midwadbtJffi&een the towers. 

*:,ry \. (O8Marks)

"

Name the different types of inq;kidrs used in tansry$;$h and distribu,tign systems. Draw
and explain the construction..ofllewleft type insul.afoi'* B (06 Marks)

3a.

b.

c.

4a.

Define strings efficienc ain the use of gu$iffiWg for improv
and derive an generali for

In a 5 insulator disc.,string, capacitarrcd. 3u"f, unit and*darth is {th of the mutual
capacitance. Fin*&voltage distributionpbidss each insula$r,, the string, as a percentage

of voltage of cmdlrotor to earth. nind alsglfre string efficie1dy. " (07 Marks)

Define corone With reference to co"dt'b, derive an expression for disruptive critical voltage
ii ,,:.. 

(0g Marks)fu#a "'

nd cable.-:# (04 Marks)
Derivflar{ expression fort}iffi-iilation resistapLce of a single core cable. (08 Marks)

"*;;* ,j:::::: 
*tr * U--*"-

d,-,r rive an expressi"6,$. the inductance of a Jingle phase two wire line. (07 Marks)
b. ''Derive an expresS,ffiMor line to neutfl capacitance for a 3 phase overhead transmission line,

when the convertprs are unsyrrunetriCally spaced. (08 Marks)

c. The 2cm emiflUiLr conductors of u 3-ph^e, 3-wire transmission line are sihrated at the
corners of a tffilhngle of sides 3,Sm, 5m and 8m. Find the capacitance per conductor per km.

(05 Marks)If the line is hansposed.

l"' \
a. Explain how the transmi$'ibir lines are classified. (04 Marks)

b. Derive an expression for'sendinglend voltage and current for long transmission line using
rigorous solution. " _ (08 Marks)

c. A 3 phase,s0llzffi.nbmission line, 100km long, delivers 20MW at 0.9 power factor lagging
and at l1OKV.{re resistance and reactance of the line per phase per lon are 0.2d1and 0.4O
respectivEly. fVhile the capacitive admittance is 2.5 x 10-5 mho per phase per km. Calculate :

i) Voltage,gpd current at the sending end
ii) Effikialrcy of the Transmission Line. Use nominal T method.
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(08 Marks)



7a. A two conductor distributor has a length of
distance being represented in meters. The

respectively. If the minimum potential a

10EE53

loaded as shown in Fig.Q7(a), the

B are maintained at 250V and 255V
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(10 Marks)

(20 Marks)

the diameter ofthe conductor used. Resiffi
W

A o &*.0

,dia

&"%v

fur*uJ%@ i!,;r

q 
"*d

ilWhf Consumer's terminalqis 245V. Calculate

lu$t.z *i"- ohm-cm.
q$Y

ln

b. In a DC ring main
1504' is taken and at G
of each conducffi 4t$.",f,,%l
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